CARMEL SCHOOL , MADHUPUR
FIRST UNIT TEST 2025 — 2026
STD: X 1
Time: 1 hr

MATHEMATICS M.M: 50

You will not be allowed to write during the first 15 minutes. This time is to be spent in reading
the question paper. The time given at the head of the paper is the time allowed for writing the
answer.
SECTION-A (Attempt all questions from this Section.)
QUESTION 1: Choose the correct answer from the given option [12X1=12]
Q.(i) The reflection of a point (3, - 5) in the line x=m is point ( -5, -5), the value of m is -
(@ 3 (DyAl=al (c) = 1 () a

Q.(ii) Iftan@ + cot@ = 5 then find the value of sec?0 + cosec? — 2 is
(a) 2 imy oS () 21 gl

Q_.(iii) If the discriminant of quadratic equation ax’ + bx + c =0 is equal to zero, then two equal roots
s e R R
2a 2a & a ¢ 2b
Q. (iv) The general form of linear in equation in one variable is
(a) ax+b> 0,ax + b < 0,ax +b > 0,ax + b < 0whereabe W a# 0
(b) axtb>0,ax+b <0,ax +b > 0,ax + b < 0where a,be N
© axtb> 0,ax+b <0,ax+b=0,ax+b < 0 wherea,be l,a # 0

(d) ax+b > 0,ax+b<0,ax+b20,ax+b$0wherea,be Ra+0

a4 3p 2a+ 2, b2 AN
Q.(v)[ 8 vl 8 a_Sb]thevalueoa 2bis

(@ O (b) & =1 i (c)Edaa (d) -2

Q. (vl) If x* = 3x then
(@) x=0 (b) x=0orx=3 () x=3 (d) x=0andx=3

Q.(vii) Rs P is deposited for n number of months in a recurring deposit account which pays interest at
the rate of r % per annum. The nature and time of interest calculated is-

(a) compound interest for n numbers of months.
(b) simple interest for n numbers of months.  © compound interest for one month

(d) simple interest for one month
Q. (viii) A fair die is thrown once. The probability of getting on even prime number is
2 1 1
(a) £ T T DN

Q.(ix) In figure, ona circle of radius 7 ¢m, tangent PT'is drawn from a point P such that PT =24 ¢m. If
0O is the centre of the circle, then the length of PR is

/U\n

S R L

'v-..-’-.::_j.“. \1 /f
- 7 _;/:\

(a)30cm  (b)28cm (d) 32 (d) 25
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12 8 -2 G
Q.(x) [10] X= [1 i ] then the order of the matrix X is-

(a) 1x1 (b) 2X1 (c) 1x2 (d) 2x2

Q. (xi) Assertion (A): (1- cosec’d) (1- sec? 8) = 1

Reason (R): 1+ tan?6 = sec? § and 1 + cot’8= cosec? 6.

(a) A is true, R is false. (b) A is false, R is true.
(c) Both A and R are true, and R is the correct reason for A.

(d) Both A and R are true, and R is incorrect reason for A.

Q. (xii) Assertion(A): The probability of an event that cannot happen or which is impossible, is equal to
Zero Reason(R): The probability lies between 0 and 1. Hence it cannot be negative.

(a) Both A and R are true and R is the correct explanation for A
(b) Both A and R are true and R is not the correct explanation for A

(c) Alis true but R is false (d)  Aisfalse butR is true
QUESTION 2 : (a)The point P (3, 4) is reflected to p' in the x-axis and o’ is the image of O (origin) in
the line PP’. Find: [2X4=8]
(i) the co-ordinates of P’ and O’, (ii) the length of segments PP” and OO’.

(iii)  the perimeter of the quadrilateral POP’O’

(b) Mr. Gupta opened a recurring deposited account in a bank. He deposited Rs 2500 per month
for two years. At the time of maturity, he got Rs 67500.Find

(i) The total interest earned by Mr. Gupta. (ii) The rate of interest per annum

SECTION -B (Attempt all question)
QUESTION: 3 [3+3+4]

(a) If P is the solution set of —3x +4 <2x —3, x € N and Q is the solution set of 4x —5 < 12, x €
W, find () PN Q (i) Q—P
secA—tan A cos?A
(b) Prove that: secA+tan A 7 (1+sind)?
(c) Without solving find the value of m for which given equation has real and equal roots x* +2(m
—1)x+(m+5)=0
QUESTION: 4 3 +3+4]

(a)In the figure O is the center of a circle. Chord CD is parallel to the diameter AB. If
< ABC 25, calculate < CED

E

(b) A box contains 5 apples, 6 oranges and x bananas. If the probability of selecting an apple
from the box is % , find the number of bananas in the box .

(c) Find x and y if [_32 (1)] [;;] +3 [_12] = 2[;’]

QUESTION: 5

[3+3+4]
(a)IfIfa, b, ¢ are the side of the right triangle where c is the hypotenuse , prove that the radius
r of the circle which touches the side of the triangle is given by r = athne
2

(b)[Proyethat : —==-sarmmeys sin4 — cos 4

(c) A boat can cover 10 km up the stream and 5 km down the stream in 6 hours. If the speed of
the stream is 1.5 km/hr. find the speed of the boat in still water.
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CARMEL SCHOOL MADHUPUR

FIRST UNIT TEST 2025-26
STD:-IX FM:- 50
SUB: - HINDI _ ‘ TIME: - 1HR
[ERIEAEE
1. Reffe & § F0 & = w1 s &R (10)
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F HgA T WHINT STl
(@) AU TIX F @Eg JAEE FoqF st A AT AW AT IqD
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2. fdmaae vt & s il
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e e
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=T ST
g1 ¥z, & AEH, ST 99 99l
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CARMEL SCHOOL , MADHUPUR

FIRST UNIT TEST 2025 — 2026 r
Time: 1 br

STD: IX i
PHYSICS MM 50
Q.No. Choose the correct option. [7]
(i) Which one of the following is a derived Unit ?
(a) Metre (b) Kelv (c)  Metre’ (d) Mole

(i)  The strip of a Vernier callipers is used to measure :
(a). Lengthofawire (b) Depth ofa beaker (©)
Diameter of a hollow sphere '

Internal diameter of a sphere (d)

(iii) The Pendulum used in a Clock is :
(a)  Simple Pendulum (b) Compound pendulum. ()  Second pendulum. (d)
None of these

(iv)  For a particle in motion which of the following quantity can be zero at any given instant?
(a) Displacement (b) Distance(c) Speed(d)  all of these

W) The graph representing the state of rest of an object is :
¥ | ) f
w i i >
té —> X t—> X
(c)i. Y, o Y

X
U s <
(vi) If a body is moving with a uniform retardation then its acceleration will be
(a) Positive.  (b) Negative. (c)Zero. (d) Cannot say
(vii) The unit of time is:
(a) Light year. (b)Parsec. (c)Leap year. (d) angstrom
Q.No.Il Complete the following sentences:- [5]
(i) On the earth’s surface, g iS ,................ atthe poles and ................ at the equator.
(ii) The time period of oscillation is .......,....,.... proportional to the square root of ........... ...
due to gravity.
(iii) If the velocity of body.................. with time, the motion is said to be retarded.
(iv) The slope of displacement time graph gives the ...................
v) Physical quantity=,,............coenne AR
Q.No.II (i) Write down the derived unit of the given physical quantities:- [8]

Force. Acceleration. Work or Energy. Density

(ii))  What is backlash error? Why is it caused? How is it avoided?

(iii)  Can displacement be zero if distance is not zero ? Give one example to explain your
answer .

(iv)  Mention four properties that must be satisfied to a Unit for Globally acceptable .

[P.T.O]
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(Section — B) (Attempt all sections each section mark is as follows 1 ,2,3)
(a) What is fundamental and derived Unit ? Give three examples of each .

Draw the velocity — time graphs for a body moving with.

(ii) Uniform acceleration
f 18 km/h accelerates uniformly at the rate of

Q:No.IV
- (b)
(i)  Uniform Velocity.
(¢) A Body with an initial velocity 0
9m/ 52 over a distance of 200 m Calculate
(i)  The acceleration in m/s%.  (ii) it’s velocity
Q.No.V (a) Write down the prefix of the given value.

@) 1 2.5 G Hz: ¥ @11)i o 0o
(b)  Define the terms and write its S.I unit
Oscillation. (i) Time period. (iii) Frequency. (iv) Amplitude
ketch of motion of two cars A

@)

The figure given below represents the displacement time .S

(©
and B. Find :
= ideay
=
— 1 20 ]
=
&
%} 40 -
) 0
o
TIME (h) —=
Figr 2.36
(i)  The distance by which the car B was initially ahead of car A .
(i) The velocity of Car A and Car B .
(iii) The time in which car A catches car B.
Q.No.VI (a) When is a Vernier Callipers said to be free from Zero error?
(b) It takes time 8 minutes for light to reach from the sun to the earth surface. If speed of light is
the sun to the earth in km .

taken to be 3 x 10 & m/s. Find the distance from

(c) Write down the factors affecting the time period of a simple pendulum.
What is meant by the terms retardation . Name it’s S .I unit.

Speed and Velocity also write three difference between them .

ocity of 72 km/ h in 10 s starting from rest. Calculate:
ance travelled in this time

Q.No.VII (a)
(b)  Define the terms

(c) A caracquiresa vel
the acceleration (ii) the average velocity and (iii) the dist

(1)
Q.No.VIII (a) What is scalar and vector quantity? Give three examples of each.
(b)  Compare the time periods of two simple pendulums of length 1m and 16 m at a place
(c) Derive the following questions for a uniformly accelerated motion:
(i) S= ut +1 att, (iii))v?=uv*+2aS

(i) v=utat
Where the symbols have their usual meanings.
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